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1. IlepeyeHb KOMNETEHINIi, KOTOPBLIMH J10JIZKHbI OBJIaIeTh 00y4alolmuecs B
pe3yJbTaTe 0CBOeHHs 00pa30BaTeIbHOM MPOrPaMMbl

Koa m HamMeHOBaHHEe KOMIIETEHIIMH Tanbl (l)OpMI/IpOBaHI/Iﬂ

CIIK-1 1.PaboTa Ha y4eOHBIX 3aHATHUSX.
BIIJICET CUCTEMOM JIMHTBUCTHYECKHUX 3HAHWH, BKiIouaromeil B | 2.CaMocTsoTenpHas padbora.
ce0s1 3HAHME OCHOBHBIX (DOHETHYECKHMX, JICKCHYECKHUX,

rpaMMaTHYECKHX, CIIOBOOOPA30BATENbHBIX  SBICHUA |

3aKOHOMEPHOCTEH (bYHKIIMOHUPOBAHUS U3y4aeMoro

MHOCTPAHHOTO S3bIKa, €ro ()YHKIIMOHATIBHBIX PAa3HOBUIHOCTEH

CIIK-6 1.Pabora Ha y4eOHBIX 3aHATHUSX.

CIOCOOEH OLEHUTh KauyecTBO HCCIeAOBaHMs B jAaHHOM | 2.CamocrosTenbHas padora.
MPEAMETHON 00JIACTH, COOTHECTH HOBYIO MH(POPMAIMIO C YXKE
HMCIOHlCﬁCH, JIOTUYHO W MOCJICAOBATCIIbHO NPCIACTABUTH
pe3yJIbTaThl COOCTBEHHOTO MCCIICIOBAHUS

CIIK-8 1.PaboTa Ha y4eOHBIX 3aHATHUSAX.
BIIaJIcET OCHOBaMH COBpeMeHHOW uHpopmanuonHot u | 2.CamocTtsaoTenpHas padoTa.
oubnuorpaduyeckoid  KyJIbTypbl, CIOCOOEH paboTaTh ¢
JNIEKTPOHHBIMH ~ CIIOBApSIMH W JAPYTHMH  DIICKTPOHHBIMH
pecypcamu JUTsl perieHust MpoecCHOHATBHBIX 3a/1a4

2. Onucanve mnoka3aTejed OIEHUBAHUS KOMIIETEHIMH, a TaK:Ke IIKAaJ
OLlCHUBAHUSA

2.1. Onucanue nokasare/jieil U KpUTEepHeB OLCHUBAHUS KOMIIETeH LU

OuenuB | YpoBeHb Jran Onucanue nokasaresnei Kpurepuu Ikana
aeMble chopmupoBan | GpopMHUpOBaHMS OLlCHUBAHMA | OLlEHHBA
KOMIIeTe | HOCTH HHA
HIMHU
CIIK-1 [Toporossrit 1.PaboTa Ha | 3HAET: Texymuit 41-60
Y4IeOHBIX - OCHOBHBIC (POHETHUYECKHE, | KOHTPOJI! OayToB
3aHATHUSAX. JIEKCUYECKHE, YCTHBIN
2.CamocTodATeNbHA | TpaMMaTHYECKHE, oTpoc Ha
g pabora. CJI0BOOOPA30BaTEIbHBIC 3aHSATHSAX;
SIBJIGHUSI U 3aKOHOMEPHOCTH | BBIIIOJIHEHHUE
(YHKIMOHUPOBAHUS TECTOBBIX
M3y9aeMOTr0 HWHOCTPAHHOTO | 3aJaHui
A3BIKA, €ro
(byHKITMOHATBHBIX 3auer c
Pa3HOBHUIHOCTEHN OLICHKOM
yMeer:
- TpPHUMEHATH IOJy4YCHHbIE
3HaHUSA O 3aKOHOMEPHOCTSAX
(YHKIMOHUPOBAHUS u
(hyHKIIMOHATBHBIX
Pa3HOBUIHOCTAX
HW3y9aeMoOro  si3bIKa  JUIS
pelieHns
npodecCHOHANBHBIX 3a]a4
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[IponBunyThIit | 1.Pabora Ha | BJajeeT: Texymmit 61-100
y4eOHBIX - CUCTEMOM | KOHTPOJIb: 6amioB
3aHATHAX. JMHTBUCTUYECKUX  3HaHUMH, | pedeparsl,
2.CamocTosATeNbHA | BKIIOYAOIIEH B ce0sl 3HAHHWE | TTPEe3CHTAaINH.

s pabora. OCHOBHBIX  (DOHETHYECKHX,
JICKCUYECKHX, 3a4eT c
rpaMMaTHYECKUX, OIIEHKOH
CII0BOOOpAa30BaTEIHHBIX
SIBJIEHUM u
3aKOHOMEPHOCTEH
(hyHKIIMOHUPOBAHUS
W3y4aeMOro HHOCTPAHHOTO
SI3BIKA, ero
(hyHKIIMOHATBHBIX
pa3HOBUJIHOCTEN

CIIK-6 [ToporoBssrii 1.PaboTa Ha | 3HaeT: Texymuuit 41-60
y4eOHBIX METOAOJIOTHIO OLICHKHU | KOHTPOJIb: OasoB
3aHATHUSAX. KadecTBa HAYYHOTO | YCTHBIN
2.CamocToATeNbHA | CCIET0BAHUS oTpoc Ha

g paboTa. yMeerT: 3aHATHSAX;

- OIEHMBaTh  KadecCTBO | BHITIOJHEHHE
WCCIIEIOBAaHAA B CBOEH | TECTOBBIX
MpeIMETHON 00JI1acTH, 3aJIaHU

- COOTHOCHUTH HOBYIO
nHpOpMAaITHIO c yXKe | 3a4eT c
HMEIOIICHCS, OLICHKOM

- JIOTUYHO u
MTOCIIEI0BATEIEHO

npeaACTaBJIATh PE3YJIIbTAThI
COOCTBEHHOTO

HCCIIe/IOBAHUS

IIponBunyThIit | 1.Pabora Ha | BJajeeT: Texymmit 61-100
y4eOHBIX - HaBBIKAMH aHaJM3a W | KOHTPOIb: OamoB
3aHATHAX. MPeICTaBICHUS PE3YIbTATOB | MPE3CHTALHH,
2.CamocTOATENbHA | HAYYHBIX HCCIEAOBaHUI B | HAyYHBIC
s pabora. pamKax OTIENBHBIX | JOKJIAJbI.

W3yYEHHBIX TUCLHUIUIMH U Ha
CTBIKE HECKOIIBKHX | 3a4eT c
TIPEAMETHBIX 00JIacTeH. OIIEHKOM

CIIK-8 [Toporossrit 1.Pabota Ha | 3HAET: Texymuit 41-60

Y4IeOHBIX - OCHOBBI  COBPEMEHHOH | KOHTPOJIE: OayToB

3aHATUAX. MH(OPMAITMOHHOM U | YCTHBIH
2.CamocrosTenpHa | OnbIMOrpaduuecKon oTpoc Ha

s pabora. KYJIBTYPBI 3aHATHUAX
yMeer:

- TPUMCHATH TMOJyYEHHBIC | 3a4eT c
3HAHUSA 1o OCHOBaM | OIEHKOM
nH(pOPMAITHOHHOH u
oubnmorpadpudeckon

KyJAbTYPBl  JIISL  PELICHHS
HCCIIEIOBATETHCKIX u

npodecCHOHANBHBIX 3a]a4




IIponBunyTHIN

1.Pabdora Ha
y4eOHBIX
3aHATHAX.
2.CamocrosTebHa
s pabora.

BJIajIeeT: Texymmit 61-100
- HaBbIKAMH TIPUMCHCHHS | KOHTPOJIb: OamoB
3HAHUH o OCHOBaM | Mpe3eHTAIUU
COBpPEMEHHOM U JTOKJIaJIBI
nH(pOPMAITMOHHOH u

oubnrorpapuveckoi 3aueT

KYJIbTYDHI, OIIEHKOH

- HaBBIKAMH pPabOTBI ¢

KOMITBIOTEPOM Kak

CpeACTBOM MOJTyYeHUS,

00paboTKM W  yTpaBICHUS

nH(popMarmei

2.2. llIkajbl OeHUBAHUA KOMIETeHIMHI

YpoBeHb c(hpopMHPOBAHHOCTH KOMIIETEHUHHU

IIxana oneHNBaHUA

IIponBUHYTHIN YPOBEHb

Komnerennust chopmMupoBaHa IOJHOCTBIO, OakanaaBp
BJIagcecT 0a30BEIMH 3HaHUAMU n METOJaMH
OCYILECTBJICHUS] ~ NMPAKTHUECKOW  JEeSATEIBHOCTH IO
n30paHHOMY HaIlpaBJICHHUIO.

81-100 «oTmuuHO»

CdopmupoBansl 0a30Bble CTPYKTYpPbI 3HaHUH, OakanaBp
BlaneeT OOMIMMHU TIOJIOKEHUSIMH TEOPUH M HMEET
MepPBOHAYAJIBHBIN OMBIT PEIICHUS IPAKTUYECKHX 33134

61-80 «xopowo»

Iloporosslii ypoBeHb

CdopmupoBanbl 6a30BbI€ CTPYKTYPHl 3HAHUH, UMEETCS
HCKOTOpLIﬁ OIBIT WX HNPHUMCHCHUSA, HO [JOIYCKArOTCA
OMMOKH NIPY PEIICHUH MPAKTHYECKUX 3324

41-60 «yn0OBIETBOPUTEIBHOY

bakamaBp  umeer  cmaboe  mpeAcCTaBICHHE O
npo¢eCCHOHANBHBIX 3a7a4yax, JOIMYCKAaeT OIIMOKH, HE

0-40 «HEynOBIETBOPUTEIHLHOY

MO3BOJIAIOIIME €My HPUCTYNHUTh K NPAKTUYECKOU
JESITeNbHOCTH
OuennBaemsble YpoBenb chpopMHPOBAHHOCTH HIkana oueHuBaHus
KOMIIETeHIINH
CIIK-1 IToporosBnwiii 0-40 «HEyIOBIETBOPUTEIHHO;
41-60 «yaOBIETBOPUTEIBHOY;
IIpoaBuHyTHIN 61-80 «xopomo»
81-100 «oTnMuHO»
CIIK-6 IHoporoserit 0-40 «HEYyOOBIETBOPUTEIBHOY;
41-60 «yaOBIETBOPUTEIHLHO;
IpoaBuHyTHIN 61-80 «xopomo»
81-100 «oTMuHO»
CIIK-8 Iloporossiii 0-40 «HEYIOBIETBOPUTEIBHO;
41-60 «yaOBIETBOPUTEIHLHO;
IIpoaBuHyTHIN 61-80 «xopormo»
81-100 «oTan4HO»




3. TunoBbie KOHTPOJIbHBIC 3aJaHUA WM HHbIC MaTepHaJIbl, HEOﬁXOIlI/IMLIe JJISA
OLICHKHU PE3YyJbTAaTOB OCBOCHHUSA NPOrpaMMbl TUCIHUIIJIUHBI

MUHUCTEPCTBO OBPA3OBAHNSI MOCKOBCKOW OBJIACTU
['ocynapcTBeHHOE 00pa3oBaTeIbHOE YUPEKICHHE BEICIIEro 00pa3oBaHusi MOCKOBCKO# o0ractu

MOCKOBCKUI I'OCYJTIAPCTBEHHbBIN OBJIACTHOM YHUBEPCUTET
(MIOY)

Kadenpa anrnumiickoit Gpunonoruun

TeMbl I0KJIA0B U MPE3eHTANUN M0 AMCUMIINHE «JIEKCUKOJIOTHSl AaHTJTMHCKOI0
3bIKA»

OuennBaeMbie KOMIIETCHIMU:
CIIK-1, CIIK-6, CIIK-8.
Ypogensb: I[loporoseiit/IIpoaBuHyTHIi

1. AKpoHHMMBI B COBPEMEHHOM AHTJIMIICKOM S3bIKE.

2. KoHBepcuss Kak crnoco0 cJIoBoOOpa3oBaHUS B COBPEMEHHOM aHTJIHUHCKOM
SI3BIKE.

3. Ilonarue ACCUMMWJISLIMU 3aMMCTBOBAHHUU u METOaUKa ee
HCCIIeJOBaHMS.

4. ]JlepuBallMOHHBIN MOTEHLHA] 3aUMCTBOBAHHBIX CJIOB.

CeMaHTHUECKasi CTPYKTypa HEOJOTU3MOB-CYLIECTBUTENbHBIX B OPUTAHCKOM U

aMEpPUKaHCKOM BapHaHTAX aHTJIMKMCKOTO SI3bIKA.

®pazeosornueckasi CAHOHUMHMS B COBPEMEHHOM aHIJIMICKOM SI3bIKE.

®pazeosoruyeckasi aHTOHUMHSI B COBPEMEHHOM AHIJIMHCKOM SI3BIKE.

8. ABTOopckue  mpeoOpasoBaHus ~ (Ppa3eosOrMYECKUX  €IUHHUI] U HUX
CTUJIMCTUYECKOE UCIIOJb30BaHNE (OKKa3HOHAIN3MBI).

9. Umena coOcTBeHHbIE B S3bIKE pEKJIaMbl (Ha MaTepuaje pyCcCKOro u
AHTJIMHACKOTO SI3bIKA).

10.InanexkTu3mMbl B aHIJIMICKOM sI3bIKe (HA MaTepualie IIOTIaHACKUX HWIIU
UPJIAHACKUX JIHAIEKTU3MOB).

11.IlnaxpoHnyeckasi MOJKMCEMUS HA3BAHUI OJIEKIbl B AHTJIMMCKOM SI3BIKE.

12.HanmonaneHO-KyJIbTypHas crielu@uKa MPO3BUIL B AHIJIUICKOM S3bIKE.

13.AHTOHUMHSI CIIOKHBIX CJIOB B COBPEMEHHOM AaHIJIMICKOM S3BIKE.

14. ApdukcanbHble 3aMMCTBOBaHUSI B AHTIUHCKOM SI3BIKE.

15.CemanTnyeckue OCOOEHHOCTH PYCCKMX 3aMMCTBOBAaHUM B aHIVIMICKOM
A3BIKE.

16.MimeHa coOCTBEHHbIE B aHIVIMMCKOM aBTOPCKOM CKa3Ke M CHOCOOBI HX
Iepelayd Ha PYCCKHUM SI3BIK.

17.Heounmanbuple  MMEHa  COOCTBEHHbIE B OpPUTAaHCKOM  BapUaHTE
AHTJIMMCKOTO S3bIKA.

18.513pIK0OBass Urpa B TEKCTaX IECEHHOrO >KaHpa.
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19.Cnioco0bl BbIpaK€HHUSI YCIOBUS B PYCCKMX M AQHIJIMHCKHX HOCJIOBULAX.

20.CTpyKTYypHO-CEMaHTHUYECKUE OCOOEHHOCTHU

AHTJIMUCKUX

ITOrOBOPOK € MPOCTPAHCTBCHHO-BPECMCHHBIMHU XaPaKTCPUCTUKAMMU.

Kpurepun oneHuBaHus J0KJIa/1a

IIOCJIOBHI]

IToka3arennb bana
Jloksiam COOTBETCTBYET 3asBICHHOW TEME, BBINOJHEH C | OTJIUYHO 8-10
MIPUBJIEYEHUEM  JIOCTAaTOYHOIO  Koju4decTBa HayuHblXx U | 81-100%
MPAKTUUYECKUX HCTOYHUKOB IO TeMme, OakallaBp B COCTOSIHUU
OTBETUTH Ha BOIPOCHI O TEME JOKIAA.
Jlokyam COOTBETCTBYET 3asBJICHHOW TEME, BBINOJHEH C | XOPOIIO 5-7
MIPUBJIEYEHUEM  JIOCTAaTOYHOI'O  KOJIMYECTBA HayudHbIX U | 61-81%
MPAKTUYECKUX HCTOYHUKOB IO TeMme, OakallaBp B COCTOSHUU
OTBETUTh HAa BONPOCHI IO TeME JAOKJIaaa, HO JIOMyCKaer
HEKOTOpbI€ HETOYHOCTH B OTBETE
Jloknaa B 11€JIOM COOTBETCTBYET 3asIBIICHHOM TEME, BBHINIOJHEH | YOBJIETBOPUTEIHHO 2-4
C IPUBJICYCHUEM HECKOJIbKMX HAy4HbIX M mpakthyeckux | 41-60%
HMCTOYHUKOB IO TeMe, OakalaBp B COCTOSSHMM OTBETUTH Ha
4acTh BOIIPOCOB MO TEME JTOKJIa/1a.
Jlokiiay HE COBCEM COOTBETCTBYET 3asBJIEHHOW TeMe, | HeyloBieTBOpUTEabHO | 0-1
BBIIIOJIHEH C MCIIOJIb30BaHHUEM TOJBKO 1 mim 2 HcTOYHHKOB, | 0-40%
OakanaBp JOIMyCKaeT OIIMOKHU MPHU M3JI0KEHUU MaTepuaia, He
B COCTOSIHUU OTBETUTH Ha BOIIPOCHI 110 TEME JOKJIAJa.
KpuTtepumn onieHnBaHus Npe3eHTANNH
IToka3areab banaa
[Ipencrapnsiemas uHbopManus CUCTEeMaTU3UPOBaAHA, | OTIIMYHO 8-10
rocJjienoBareNbHa M Jorudecku cBszaHa. [Ipobrmema packpeita | 81-100%
nosHOCThIO. [1IupoKo MCronb30BaHbl BO3MOKHOCTH TEXHOJIOTHUI
Power Point.
[IpencraBnsiemass uHGOpMaMs B I[EIOM CHUCTEMATU3MPOBAHA, | XOPOIIO 5-7
TocJieIoBaTeNibHA U JIOTHYECKH CBs3aHa (BO3MOXKHBI HeOombiue | 61-81%
OTKJIOHEHHS). [Ipobnema packpsITa. Bo3moxHBI
He3HauMTeNIbHbIe ommOKu nipu oopmieHun B Power Point (e
0oJjee 1BYX).
[IpencraBnsemas nHpopManus B IIEJIOM CUCTEMAaTU3UPOBAHA, HO | YIOBJIETBOPUTEIHHO 2-4
HE ToclefoBaTelbHa W He cBsizaHa Jjorudecku. [IpoGrema | 41-60%
packppiTa HE  TOJHOCThIO. BO3MOXHBI  OMIMOKH  MpHU
odopmienun B Power Point.
[IpencraBnsiemass wHpOpMAIlMs HE CUCTEMATH3MpPOBAaHA W HE | HEyJIoBIeTBOpUTENbHO | 0-1
coBceM mocnenoBarenbHa. [IpobGiema packpbita He onHOCTHIO. | 0-40%
BreBogbl He craenaHsl WIM HE OOOCHOBAaHBEL B03MOXHOCTH
texHosnoruu Power Point #cnonb3oBaHbl JIMIIE YACTUYHO.




MUHUCTEPCTBO OBPA3OBAHNSI MOCKOBCKOW OBJIACTU
['ocynapcTBeHHOE 00pa3oBaTeIbHOE YUPEKICHHE BEICIIEro 00pa3oBaHusi MOCKOBCKO# obmactu

MOCKOBCKUI T'OCYJTIAPCTBEHHbBIN OBJIACTHOM YHUBEPCUTET
(MI'OY)

Kadenpa anrnumiickoit Gpunonoruu

IIpakTHueckoe 3aganue Conversion
0 JMCUMILINHE «JIeKCHKOJI0IrMA aHTJINICKOI0 A3BIKA)

OnenuBaemsblie komnerenuuu: CIIK-1, CIIK-6, CIIK-8
Yposenb: [loporossii

Practice 1
Define the part of speech of the italicized words. State what parts of speech
they are derived from and what word-formation means is applied here.
Model: Still water of the lake mirrors the trees.
The word mirror is a verb which is derived from the noun mirror by means
of conversion.

1. That fellow really whatevers me.
She made a two-part documentary about the war in Kosovo.
Local politicians were found to pocket the money of fund-raisers.
This video 1s a must for everyone.
The story was in all the dailies.
Will you holiday in Switzerland?
He busied himself with plants for the future.
There is a great deal of difference between before and after.
9. I asked him to modem this information tomorrow.
10.It was a good buy.
11.I don’t like a chemistry practical.
12.His skin was weathered almost black by his long outdoor life.
13.The path is steep and dangerous in the wet.
14.1 won’t join your plan. There are too many ifs and buts in it.
15.The army’s actions dirtied his reputation.

e Al

Practice 2
In the given conversion pairs state the semantic relations between the
denominal verb and the noun it is derived from.
Model: coat—to coat “to cover something with a coat”.
The semantic relation between the words making up the conversion pair coat —
to coat is “the addition of the object”.

1. bone —to bone “to remove the bones from (meat or fish) before

cooking it”
2. eye —to eye “to watch carefully”
8



crowd —to crowd “to come together in large numbers”

garage — to garage “to put or keep (a motor vehicle) in a garage”

nut —to nut “to gather nuts”

fool —to fool “to act in a joking, frivolous, or teasing way”

stone — to stone “to throw stones at” & “to remove the stone from

(a fruit)”

8. leather — to leather “to cover with leather”

9. skin—to skin “to remove the skin from (a fruit or vegetable)”

10.wolf —to wolf “to devour (food) greedily”

11.1and — to land “to put ashore; to come down through the air and
alight on the ground”

12.grill —to grill “to cook (something) using a grill”

13.mushroom — to mushroom “to gather mushrooms”

14.breakfast — to breakfast “to eat breakfast”

NS s W

Practice 3
In the given conversion pairs state the semantic relations between the deverbal
noun and the verb it is derived from.
Model: to leak — leak “a hole in a container or covering through which
contents, especially liquid or gas, may accidentally pass”
The semantic relation between the words making up the conversion pair to
leak — leak is “the place of the action”.
1. to flirt — flirt “a person who habitually flirts”
2. to knock — knock “a sudden short sound caused by a blow,
especially on a door to attract attention or gain entry”
to cut—cut “damage from something sharp”
4. to watch — watch “a film or programme considered in terms of its
appeal to the public”
5. to cheat —cheat “a person who behaves dishonestly in order to gain
an advantage”
6. to stand — stand “a place where or object on which someone or
something stands, sits, or rests, in particular”
7. to go—go ‘“an attempt or trial at something”
8. to like —like(s) “the thing(s) one likes or prefers”
9. to tear —tear “a hole or split in something caused by it having been
pulled apart forcefully”
10.to wait — wait “a period of waiting”
11.to forge — forge “a blacksmith’s workshop”
12.to scold —scold “a woman who nags or grumbles constantly”
13.to read —read ‘“something of the stated kind to read”
14.to lift —lift “a rise in price or amount”

W



KpnTean OLICHUBAHWHA BbINNOJHCHHUA IPAKTHYECCKOIo 3aJaHHUA

Iloka3arean Bbaaa

3aﬂaHI/I€ BBIITOJIHCHO ITOJIHOCTBIO, KOJTMYCCTBO omunbok — He 6oee 5% 5

3ajaHie BBIMIOJIHEHO MPAKTHYECKH IMOJIHOCTHIO, KOJUYECTBO OMIMOOK — | 4
e 6osee 10%

3aaHue BBIITOJIHEHO YaCTUYHO, KOJIUYECTBO OIIHMOOK — He 0osee 30%.

w

3aaHne BBHITIOJTHEHO, HO COJIEPKUT MHOKECTBO OMMO0K — Oosee 50%. 2
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MMHUCTEPCTBO OBPA30BAHMS MOCKOBCKOI OBJIACTHU

['ocynapcTBeHHOE 00pa3oBaTeIbHOE YUPEKICHHE BEICIIEro 00pa3oBaHusi MOCKOBCKO# obmactu

MOCKOBCKUI T'OCYJTIAPCTBEHHbBIN OBJIACTHOM YHUBEPCUTET
(MI'OY)

Kadenpa anrnumiickoit Gpunonoruu

IIpakTyeckoe 3axanme Synonyms and Antonyms
mo JUCIUIIJINHE «JIekcukoorusa»

OnenuBaemsbie komnerenuuu: CIIK-1, CIIK-6, CIIK-8
Yposenb: [IpoaBUHYyTHIN

1. Find the synonymic dominant in the following groups of synonyms.

To sob—to weep —to cry, to brood —to reflect —to meditate — to think, to
glare — to peep — to look — to stare — to glance, strange — quaint — odd — queer,
terror — fear — horror, angry — furious — enraged, to flash —to gleam — to sparkle —
to blaze —to shine.

2. State the difference in the pragmatic aspect of meaning of the given
synonyms.

Example: to see —to behold (the verb to behold is formal, whereas the
verb to see is neutral).

Car — automobile; refreshment — bite; soldier — warrior; to begin — to
commence; face — puss; to leave — to abandon; hearty — cordial; hand — fin; to
cry —to weep.

3. Give meanings of the following synonyms. State the difference in the
connotational aspect of their meaning.
Example: love —worship
love — an intense feeling of deep affection
worship —the feeling of profound reverence and strong adoration
(emotive charge and expressiveness (intensity) are different)

confidence — assurance

to satisfy —to delight
alone — lonely

to create —to manufacture
to blush —to redden

to tremble —to shudder

4. State the origin of the following ideographic synonyms.
1. ask, implore, beg
2. longing, desire, wish
11



wither, decay, fade

handsome, pretty, beautiful
irritate, annoy

pierce, penetrate

alarmed, frightened, terrified
abominable, detestable, execrable
9. happiness, pleasure, delight
10.astonishment, consternation, surprise
11.excuse, pardon, forgive
12.accident, disaster, misfortune
13.malicious, naughty, nasty, wicked
14.genius, capability, talent

XN B W

5. Give derivational antonyms to the words.

Just, justice, use (adj), use (n), fortunate, fortune, grateful, gratitude, like
(v), like (adj), movable, moved, related, relative, complete (v), arrange (v),

possible (adj).

6. Change the sentences so that they express the contrary meaning by

using antonyms. State whether they are absolute or derivational.
1. All the seats were occupied.

He always wore striped shirts with attached collars.

The room was lighted by the strong rays of the sun.

He added three hundred to the sum.

I came in while you were asleep.

A lamp is a necessary thing in this room.

The door was closed and locked.

e A

light.

9. In the second year of their residence the company seemed especially

to increase.
10.The little boy was outside the car.
11.Food and water were scarce during the long summer.
12.He drew two crooked lines.

Light curtains hung on the dining-room windows, therefore it was

KpnTeplm OLICHMBAHUHA BBINNOJHCHHUA IIPAKTHYECCKOIo 3aJaHUA

IToxa3zaTeanb bana
3amaHue BBHIIOJHEHO TOJIHOCTBIO, KOJIMYECTBO OMIHOOK — He 0oee 5% 5
3ajiaHue BBHITIOJIHEHO MPAKTUYECKH MOJHOCTHIO, KOJIUYECTBO OMHOOK — | 4

He 6omee 10%

3a1aHue BBIITOJHEHO YaCTUYHO, KOJIMYECTBO OIHOOK — He 0osee 30%. 3
3a1aHue BBITIOJTHEHO, HO COACPYKUT MHOXKECTBO OImMO0OK — 6osee 50%. 2
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MUHUCTEPCTBO OBPA3OBAHNSI MOCKOBCKOW OBJIACTU
['ocynapcTBeHHOE 00pa3oBaTeIbHOE YUPEKICHHE BEICIIEro 00pa3oBaHusi MOCKOBCKO# obmactu

MOCKOBCKUI T'OCYJTIAPCTBEHHbBIN OBJIACTHOM YHUBEPCUTET
(MI'OY)

Kadenpa anrnumiickoit Gpunonoruu

TeMpbl 1151 YCTHOTO Ompoca
10 JUCHUIUINHE «JIEKCHUKOJIOTUS AHTIMUCKOI0 A3BIKA»

OnenuBaemsblie komnerenuuu: CIIK-1, CIIK-6, CIIK-8
YpoBenn: [Toporoselii / [IpoaBuHyTHIN

Lexicography. The main types of dictionaries.

Archaic words and neologisms.

Aspects of lexical meaning.

The problem of synonymy. Classification of synonyms.
Syntactical classification of phraseological units.

Antonymy. Types of antonyms.

Structural classification of phraseological units.

Polysemy and homonymy. The structure of a polysemantic word.
Semantic classification of phraseological units.

10.Classification of homonyms. Sources of homonymy.

1

1.Phraseological units: the definition and characteristic features. Classifications of
phraseological units.

12.Development of lexical meaning. Causes and types of semantic changes.
13.Secondary ways of word formation: shortening, acronymy, back formation,

blending, sound interchange, sound imitation, stress interchange.

14.Metaphor and metonymy as mechanism of creating new meaning.

Kpurtepuu oneHuBaHus yCTHOTO onpoca

IToka3aTean Baaa

OTBeT MOJIHBI M COAEpPKATENIbHBIM, COOTBETCTBYET TEME; | OTIIMYHO 8-10
OakanaBp yMeeT apryMEHTHpPOBAHO OTCTauBaTh CBOIO TOuky | 81-100%
3peHus, JI€MOHCTPUPYET 3HaHUe TEPMUHOJIOTHU
JUCIUILIMHBI

OTtBeT conepxKaTelbHbIi, COOTBETCTBYET TEME, HO COACPKHUT | XOPOIIO 5-7
1-2 ommOku; GakanaBp ymMeeT apryMEHTUPOBAaHO OTcTauBaTh | 61-81%
CBOIO TOYKY 3PEHHUS, JEMOHCTPUPYET 3HAHUE TEPMUHOJIOTHU
JUCIUITUHBI

OTBeT B 1LEIOM COOTBETCTBYET TeME€  (HE OTpaKEHBI | YOBIETBOPUTEIBHO 2-4
HEKOTOpBIE AaCIEeKThl); OakallaBp ymeeT OTcTauBaTh cBoio | 41-60%
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TOUKY (XOTS apryMEHTalUsl HE BCErJa Ha J0JKHOM YpOBHE);
JEMOHCTPUPYET YAOBICTBOPUTEIBLHOE 3HAHUE TEPMUHOJIOTMU
JUCLUIIINHBI

OTBeT HEMOJIHBIA KaK M0 00beMy, TaK M MO COJEPKaHUIO
(XOTSl ¥ COOTBETCTBYET TEME), COJICPIKUT CEPHE3HBIE ONMNOKH;
apryMeHTanus HE Ha  COOTBETCTBYIOIIEM  YpOBHE,
MPUCYTCTBYIOT MPOOJIEMBI C YHOTPEOJICHUEM TEPMHHOJIOTHI
JTUCIUIIINHBI

HEY0BJIETBOPUTEIILHO
0-40%

0-1
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MUHUCTEPCTBO OBPA3OBAHNSI MOCKOBCKOW OBJIACTU
['ocynapcTBeHHOE 00pa3oBaTeIbHOE YUPEKICHHE BEICIIEro 00pa3oBaHusi MOCKOBCKO# obmactu

MOCKOBCKUI T'OCYJTIAPCTBEHHbBIN OBJIACTHOM YHUBEPCUTET
(MI'OY)

Kadenpa anrnumiickoit Gpunonoruu

Temsbl pedepaToB
10 JUCHUILINHE «JIEKCHUKOJIOTUS AHTIMHCKOI0 A3BIKA»

OnenuBaemsblie komnerenuuu: CIIK-1, CIIK-6, CIIK-8
Yposensb: Iloporossiii / [IpogBunyThIit

1. CMHXpPOHHO-CONOCTABUTENBHBIN aHAJIN3 TOCJIOBUI] U MOTOBOPOK B AHIJIMHCKOM,
PYCCKOM, HEMELIKOM U KUTaWCKOM $SI3bIKaxX B KyJbTYPOJOTHUYECKOM ACIIEKTE;
2.AHrnuiickue (Gpa3eosoTu3Mbl, COAEpXKallie B CBOEH CEMAHTHUKE JJIEMEHT
[BETO0O03HAYEHUS], © OCOOEHHOCTHU UX MEPEBO/Ia Ha PYCCKUIM A3BIK;

3. @®pa3eonoruueckue eaUHUIBI OMOJIEHCKOro MNPOUCXOXKIEHUS (HAa MarepHualie
AHTJIMKACKOTO M PYCCKOT'O SI3BIKOB);

4. ®pa3eonoruveckre NPO3BHIIA W HMX MECTO B aHIJIMICKOW (hpa3eosioruu;

5. KynbrypHo-HanmoHanbHas crnenuduka Gppa3zeonsorndecKux eIuHHII;

6. OCOOEHHOCTHU COBPEMEHHOTO CJIEHTa aHTJIMHUCKOTO SI3bIKA;

7. OcOOEHHOCTH COBPEMEHHOT'O CJIEHIa aMEPUKAHCKOTO SI3bIKA;

8. OcoOEHHOCTH COBPEMEHHOTO CJIEHTa KaHAJICKOTO S3bIKa;

9. OcOOEHHOCTU COBPEMEHHOTO CJIEHTa aBCTPATTMUCKOTO SI3bIKA;

10. Adopu3zmMbl B COBPEMEHHOM aHTJIMMCKOM SI3BIKE;

11. ABTOpckue npeoOpazoBaHusi (Hpa3zeoOrHuecKux eAUHUI] U UX CTHIMCTUYECKOE
UCIIOJIb30BaHUE (OKKA3HMOHAIU3MBbI);

12. MexnomeTtHas (ppa3eonorus aHJIMICKOTO S3bIKA;

13. AHrnuiickue 3aMMCTBOBaHUS B PYCCKOM SI3bIKE;

14.JIluHrBUCTUYECKHE U3MEHEHUSI B COBPEMEHHOM AHIJIMICKOM SI3bIKE (HEOJIOTH3MBbl);
15. OcHoBHBIE MPOOJEMBI CO3/1aHUS AIEKTPOHHBIX CIIOBApEi;

16. IIparmaTtrueckue acneKTbl W3yYEHUS aHIVIMUCKONW VHTEpHET-IeKCUKH;

17. TenpeHuun B OOpa30BaHUU CJICHTU3MOB M KOJUIOKBHUAIMU3MOB;

18. CuHoHuMusa aOpU3MOB U MOCIOBHUI[ B AHTJIUHCKOM S3BIKE;

19. Cnenr kak OTpaXeHHE KyJIbTYpPHBIX OCOOCHHOCTEM OTIEIbHON SI3BIKOBOM
TPYIIIbL;

20. COUMOJMHIBUCTUYECKUE ACIEKTHI AJIEKTPOHHOM DPEYH.

PedepaTr — kpaTkas 3amuch HUACH, COICPKAIIMXCS B OJHOM WM HECKOJBKHX
UCTOYHHMKAX, KOTOpast TpeOyeT YMEHHS COMOCTABISITh M aHAIM3UPOBATH PA3THMUHBIC
Touku 3peHus. Pedepar mpeacraBmsier coOoit omHy U3 (QOpM HHTEPIpPETAHH
MCXOJTHOTO TEKCTa WM HECKOJIBKUX HMCTOYHHKOB, MOATOMY pedepar, B OTIMYHUE OT

KOHCIICKTA, ABJIICTCA HOBBIM, ABTOPCKHM TCKCTOM. HoBuszna B JaHHOM CJIy4dac
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M0JIpa3yMeBaeT HOBOE M3JIOKECHHE, CHCTEMATH3aIUIO0 MaTepuana, 0CoOOyI0 aBTOPCKYIO
MO3UIIMI0O TIPU COTMOCTABICHUM PA3JIMYHBIX TOYEK 3peHus. PedepupoBanme
npeanoiaraeT M3JI0KEHUE KaKoro-mubo BOIMpoca HA OCHOBE KiacCHU(UKAIIUH,
0000I1IeHHs, aHAJIM3a U CHHTE3a OJHOT'0 I HECKOJIBKUX MCTOYHUKOB.

TpeboBanus k HanucaHui pedepara:

O6wveM pedepata — 10 — 12 crtp. mewyatHoro Tekcra. Pedepar momkeH
coziepkaTh: 000CHOBaHME BBHIOOpA TEMBbI; YKa3aHUs Ha MpPeIMET, 0ObEKT U3ydaeMon
TEMbI; LIeJb pabOThl M 3a/layu; M3J0KEHHWE MaTepuaia, PacKpbIBAIOIIETO LIENb U
3a/1a4ud; BBIBOJbI; JINTEPATYPA.

Pedepar onienuBaercs, ucXo/is U3 CIEAYIONIMX KPUTEPHUEB:

Pe(])epaT OLCHUBACTCH, HCXOAHA U3 CJTCAYIOIIUX KPUTECPUCB:

Kpurepuu [TokaszaTenu bayel
1.HoBu3zHa - aKTyaJbHOCTb mpobaembl U | 20% MakcUMaJIbHO 3 Gamna
pedepupoBaHHOTO | TEMBL; MaKCHMAaJIbHO
TEKCTa - HOBU3HA U CAMOCTOSITENILHOCTh B

IIOCTaHOBKE po0JIeMBlI, B

(bopMyIMpOBaHUU HOBOT'O

acrmeKkTa BBIOpaHHOM ISl aHaIM3a

MPOOIIEMBI;

- HQJIMYME aBTOPCKOM MO3HUIINH,
CaMOCTOSITEJIbBHOCTb CY>KJICHUM.

2. CreneHb - coorBercTBUe MuaHa TeMe | 20% MaKCHUMalbHO 3 6amna
PacCKpBITHS pedepara; MaKCHMaJIbHO
CYUIHOCTH - COOTBETCTBHE COZICPIKAHUS TEME

poOIeMbI u TIaHy pedepara;

- MOJIHOTA U TIIyOMHA PacKpbITUS
OCHOBHBIX TOHSTHI MPOOIEMBI;
- 00OCHOBAaHHOCTbL CIIOCOOOB H
METOJIOB PaldOTHI C MaTepuaioM;
- yMEHHE paboraTh c
JUTEpaTypOid, CUCTEMaTU3UPOBATh
U CTPYKTYPHUPOBaTh MaTepHAL;
- yMEHHE 0000111aTh,
COTIOCTARJISITh PA3IMYHBIC TOYKU
3peHusi MO0 paccMaTpUBAEMOMY

BOIIPOCY, apryMEHTHPOBATh
OCHOBHBI€ TTOJIOKEHHUSI U BBIBOJIBI.

3. OG0CHOBaHHOCTh | - KpYyT, MOJHOTa HCIOJIb30BaHUA | 20% MakCUMAaIbHO 3 Gamna

BbIOOpA HCTOYHUKOB | TUTEPATYPHBIX HUCTOYHUKOB TIO MaKCHMaJbHO
npobseme;

- TPUBJICYCHHE HOBCHIIHMX DPabOT
mo  mpobreme  (KypHaJbHBIC

myOMKaImy, MaTepHaIbl

COOpDHHMKOB Hay4HbIX TpPYIOB U

T.J.).
4. Cobmronenue - mpaBwibHOoe  odopmiienue | 20% MakCUMalbHO 3 Gamna
TpeOOBaHU K CCBIJIOK Ha HCTIOTB3YEMYIO MaKCHMAaJIbHO
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o opMIICHHIO

JAUTEpaTypy;
- TpPaMOTHOCTb U  KyJbTypa

H3JI0KCHU,
- BIaJeHUE TEPMHUHOJIOTHEH U

MOHATUINHBIM anmnapaTom
MPOOJIEMBI;

- coOmrogeHue TpeOOBaHUH K
o0beMy pedepara;
- KyJbTypa odopmIIeHHUS:

BBIZEIICHUE a03alleB.

5. I'pamoTHOCTH

- OTCYTCTBHE OpporpapuuecKkux u
CHUHTAaKCUYECKUX OLIMOOK,
CTHWJINCTUYECKUX TOTrPELIHOCTEN;
- OTCYTCTBUE OIEYaToK,
COKpaIlCHUI CJIOB, Kpome
OOIIETIPUHATHIX;

- HAy4HbIH CTWJIb H3JI0KEHUS.

20% MakcuMaiIbHO

3 Oamna
MaKCUMAJILHO

17




MMHUCTEPCTBO OBPA30BAHMS MOCKOBCKOI OBJIACTHU

['ocynapcTBeHHOE 00pa3oBaTeIbHOE YUPEKICHHE BEICIIEro 00pa3oBaHusi MOCKOBCKO# obmactu

MOCKOBCKUI T'OCYJTIAPCTBEHHbBIN OBJIACTHOM YHUBEPCUTET
(MI'OY)

Kadenpa anrnumiickoit Gpunonoruu

Tect (Bapuant 1)
Mo AUCHUIINHE «JIeKCHKOJIOTHS AHTJIMHCKOT0 A3BIKA»

OnenuBaemsbie komnerenuuu: CIIK-1, CIIK-6, CIIK-8
Yposenb: [loporossii

1. Immediate constituents are:

a) two meaningful components the word breaks into at each stage of morphological analysis:
b) the elements which are no longer divisible

c) the smallest linguistic units possessing meaning

d) constituents incapable of further division into any smaller elements possessing sound-form
and meaning

2. The analysis of the word “spinster” = noun, countable noun, human, adult, female, who
has never been married is:

a) contrastive

b) Immediate Constituents analysis

¢) componential

d) transformational

3. The major criteria for distinguishing between phraseological units and free word-groups
are:

a) semantic

b) stylistic

¢) semantic and structural

d) structural

4. Word structure consists in:

a) making new words with the help of morphemes
b) segmentation of words into morphemes

c) segmentation of words into syllables

d) making new words with the help of composition

5. By their activity in the language affixes are classified into:
a) recurrent and unique

b) prefixes and suffixes

¢) productive and non-productive

d) native and borrowed

6. The name given to the use of the same word in two or more distinct meanings is:
a) antonymy
b) polysemy
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C) synonymy
d) paronymy

7. Words denoting objects and phenomena which are things of the past and no longer exist
are called:

a) archaisms

b) historisms

¢) borrowings

d) neologisms

8. The words “incredulous’ and “incredible” are:
a) homonyms
b) antonyms
C) paronyms
d) synonyms

9. The members of a thematic group which belong to the same part of speech and are so
close to one another semantically that to be able to use them correctly in speech we require
exact knowledge of the shades of meaning and stylistic connotations are:

a) synonyms

b) antonyms

¢) homonyms

d) paronyms

10. The synonyms “dad — father — parent” are:
a) ideographic

b) ideographic — stylistic

c) stylistic

d) slang

11. The structure of the word “blue-eyed” is:
a) simple

b) affixed

¢) compound

d) compound-affixed

12. the structure of the word ‘“handful” is:
a) simple

b) affixed

¢) compound

d) compound-affixed

13. The word “mike” was formed by:
a) affixation

b) composition

c) abbreviation

d) conversion

14. The word “baby-sit” was formed by:
a) affixation

b) abbreviation

¢) composition
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d) back formation

15. The word “buzz” was formed by:
a) conversion

b) back formation

¢) sound imitation

d) sound interchange

16. The word “middle-of-the-roader” was formed by:
a) composition

b) affixation

c¢) back formation

d) conversion

17. Which of the words has a derived stem:
a) darkness

b) teacher

¢) unbound

d) uncomfortable

18. Find a word with a compound stem:
a) greenhouse

b) unemployment

c¢) insignificant

d) mouthful

19. Which of the words is built in accordance with the formula: adj+ suff?
a) irresistible

b) invariably

¢) impossible

d) good-for-nothing

20. Which of the words is built in accordance with the pattern: in- + Verb + -able + -ly:
a) impossible

b) irresistible

¢) invariably

d) unbelievably

21. Find a deverbal substance denoting the result of the action:
a) to smile —a smile

b) to help — help

¢) to find—a find

d) to glance —a glance

22. Find a deverbal substance denoting an instance of the action:
a) to leak —a leak

b) to peel —a peel

c) to dress —a dress

d) to glance —a glance

23. Find a compound noun:
a) theatre-goer
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b) rain-driven
¢) Afro-American
d) warm-hearted

24. Find a compound adjective:
a) sick-leave

b) backbite

¢) armchair

d) sky-blue

25. Find a compound word in which the components are placed one after another
(juxtaposition):

a) Anglo-Saxon

b) horseman

¢) sportsman

d) handiwork

26. Find a compound word whose components are joined together with a linking vowel:
a) photointelligence

b) telephone

c) gasometre

d) fountain-pen

27. Find a compound word whose components are joined together with a linking consonant:
a) handicraft
b) hazel-eyed
c) sunflower
d) statesman

28. Find an example of a compound-affixed adjective formed with the help of a suffix:
a) ice-cold

b) age-long

c¢) absent-minded

d) red-hot

29. Find an example of a compound-affixed noun:
a) masterpiece

b) short-sighted

¢) good-looking

d) shoe-maker

30. Find a coordinative compound formed by joining phonically varied rhythmic forms:
a) long-living

b) man-servant

c¢) willy-nilly

d) blueprint

31. Find a coordinative (additive) compound:
a) singer-songwriter

b) night-school

c) sunflower

d) looking-glass
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32. Find a coordinative (reduplicative) compound:
a) rah-rah

b) walkie-talkie

c) lady-bug

d) railroad

33. Find an example of a subordinate compound:
a) fifty-fifty

b) snowball

c) actor-manager

d) pooh-pooh

34. Find a syntactic compound word:
a) thick-haired

b) nobleman

c) green-eyed

d) wrapping-paper

35. Find a compound with a unity stress:
a) sun-flower

b) door-nail

c) ill-nature

d) snow-white

36. Find a compound with a double stress (primary and secondary):
a) dog-kennel

b) heartache

c¢) bluebell

d) workhouse

37. find a compound with two level stresses:
a) torch-light

b) newspaper

c¢) fellow-man

d) bookcase

38. find a non-motivated (idiomatic) compound:
a) sunrise

b) narrow-minded

c¢) engine-driver

d) bluestocking

39. Find a graphical abbreviation:
a) e.g.

b) fancy

c) tram

d) YMCA

40. Find an initial abbreviation which is read as a succession of the alphabetical readings of
the constituent letters:
a) BBC
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b) Mrs.
c¢) radar
d) RAF

41. The word “CLASS” is:
a) a graphical abbreviation
b) an acronym

c) a lexical abbreviation
d) a blend

42. Find an example of ideographic-stylistic synonyms:
a) to see —to view

b) to see —to behold

c) to see —to observe

d) to see —to watch

43. Find the dominant of the synonymic set:
a) celebrated

b) famous

c¢) distinguished

d) eminent

44. Find an example of absolute synonyms:
a) eye-doctor — occulist

b) large — vast

c) to get—to receive

d) word-building — word-formation

45. Find an example of homographs:

a) bow (moxyion) — bow (JIIyK)

b) right (mpaBerii) — write (mrcartp)

¢) ring (KoJib10) — ring (TeneOHHBI 3BOHOK)

d) to found (ocHoBsiBaTh) — found (past tense to find)

46. Find an example of homophones:

a) lead (cBunen) — lead (Bectn)

b) can (ymeTh; OBITb B COCTOSIHHH) — can (KOHCEPBUPOBATH)
¢) long (nuHHEIA) — long (K1aTh)

d) meat (Msico) — meet (BcTpeuaTh)

47. Find an example of a free word-group:
a) to read books

b) to cry for the moon

c) to fall in love

d) to fly into a rage

48. Narrowing of the meaning is:
a) generalization

b) specialization

c¢) hyperbole

d) litotes
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49. Degradation of the meaning is:
a) elevation

b) degeneration

c¢) specialization

d) generalization

50. Lexicology is a branch of linguistics which deals with...

a) the various means of expressing grammatical relations between words and with the
patterns after which words are combined into word groups and sentences

b) the outer sound form of the word

c¢) lexical units and the vocabulary of alanguage

d) the study of the nature, functions and structure of stylistic devices and with the
investigation of each style of the language

TecThl MOPOroBOro ypoBHs OIICHUBAIOTCS W3 pacuera 100 6aymIoB, KaXKIbI MPABMIBHBI OTBET
olieHuBaeTcs B 2 6asia.

[IIkana cOOTBETCTBUSI PEUTHUHIOBBIX OLIEHOK NATHOAUIbHBIM oueHKaM: 100 — 81- «otnuuno» (5);
80 — 61 - «xoporio» (4); 60 — 41 - «ynoBiaerBoputensHo» (3); 40 — 21 - «HEYyAOBIECTBOPUTEIHLHOY
(2),20 -0 - «HEOOXOAMMO OBTOPHOE U3YUEHUE.

Kpurtepun ouenku Tecra (oporoBblii ypoBeHb)

OrieHKa 110 5-0aJUILHOM CUCTEME Onenka o 100-6ayuteHOM | bamisl misg arrecramuu
CHCTEME
5 OTJIMYHO 81 —-100 17-20
4 | xopowo 61 —80 13-16
3 | yAOBJIETBOPUTEIBHO 41 - 60 9-12
2 | HEy/IOBJIETBOPUTEIBHO 21 -40 5-8
1 Heo0xoaumo MMOBTOPHOE 0-20 0-4
M3y4YeHue
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MMHUCTEPCTBO OBPA30BAHMS MOCKOBCKOI OBJIACTHU

['ocynapcTBeHHOE 00pa3oBaTeIbHOE YUPEKICHHE BEICIIEro 00pa3oBaHusi MOCKOBCKO# obmactu

MOCKOBCKUI T'OCYJTIAPCTBEHHbBIN OBJIACTHOM YHUBEPCUTET
(MI'OY)

Kadenpa anrnumiickoit Gpunonoruu

Tect (Bapuanr 2)
Mo AUCHUIINHE «JIeKCHKOJIOTHS AHTJIMHCKOT0 A3BIKA»

OnenuBaemsbie komnerenuuu: CIIK-1, CIIK-6, CIIK-8
Yposenb: [loporossii

1. Immediate constituents are:

a) two meaningful components the word breaks into at each stage of morphological analysis:
b) the elements which are no longer divisible

c) the smallest linguistic units possessing meaning

d) constituents incapable of further division into any smaller elements possessing sound-form
and meaning

2. The major criteria for distinguishing between phraseological units and free word-groups
are:

a) semantic

b) stylistic

¢) semantic and structural

d) structural

3. Word structure consists in:

a) making new words with the help of morphemes
b) segmentation of words into morphemes

c) segmentation of words into syllables

d) making new words with the help of composition

4. By their activity in the language affixes are classified into:
a) recurrent and unique

b) prefixes and suffixes

¢) productive and non-productive

d) native and borrowed

5. The structure of the word “blue-eyed” is:
a) simple

b) affixed

¢) compound

d) compound-affixed

6. the structure of the word “handful” is:
a) simple

b) affixed

¢) compound
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d) compound-affixed

7. The word “mike” was formed by:
a) affixation

b) composition

c) abbreviation

d) conversion

8. The word “baby-sit” was formed by:
a) affixation

b) abbreviation

c) composition

d) back formation

9. The word “buzz” was formed by:
a) conversion

b) back formation

¢) sound imitation

d) sound interchange

10. The word “middle-of-the-roader” was formed by:
a) composition

b) affixation

c¢) back formation

d) conversion

11. Which of the words has a derived stem:
a) darkness

b) teacher

¢) unbound

d) uncomfortable

12. Find a word with a compound stem:
a) greenhouse

b) unemployment

¢) insignificant

d) mouthful

13. Find a deverbal substance denoting the result of the action:
a) to smile —a smile

b) to help — help

c¢) to find—a find

d) to glance —a glance

14. Find a deverbal substance denoting an instance of the action:
a) to leak —a leak

b) to peel —a peel

c) to dress —a dress

d) to glance —a glance

15. Find a compound word whose components are joined together with a linking vowel:
a) photointelligence
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b) telephone
c) gasometre
d) fountain-pen

16. Find a compound word whose components are joined together with a linking consonant:
a) handicraft
b) hazel-eyed
c¢) sunflower
d) statesman

17. Find an example of a compound-affixed adjective formed with the help of a suffix:
a) ice-cold

b) age-long

c¢) absent-minded

d) red-hot

18. Find a coordinative compound formed by joining phonically varied rhythmic forms:
a) long-living

b) man-servant

c¢) willy-nilly

d) blueprint

19. Find a coordinative (additive) compound:
a) singer-songwriter

b) night-school

c) sunflower

d) looking-glass

20. Find a coordinative (reduplicative) compound:
a) rah-rah

b) walkie-talkie

c¢) lady-bug

d) railroad

21. Find an example of a subordinate compound:
a) fifty-fifty

b) snowball

c) actor-manager

d) pooh-pooh

22. find a non-motivated (idiomatic) compound:
a) sunrise

b) narrow-minded

¢) engine-driver

d) bluestocking

23. Find a graphical abbreviation:
a) e.g.

b) fancy

c) tram

d) YMCA
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24. Find an initial abbreviation which is read as a succession of the alphabetical readings of
the constituent letters:

a) BBC

b) Mrs.

c) radar

d) RAF

25. The word “CLASS” is:
a) a graphical abbreviation
b) an acronym

c) a lexical abbreviation
d) a blend

26. Lexicology is a branch of linguistics which deals with...

a) the various means of expressing grammatical relations between words and with the
patterns after which words are combined into word groups and sentences

b) the outer sound form of the word

c) lexical units and the vocabulary of alanguage

d) the study of the nature, functions and structure of stylistic devices and with the
investigation of each style of the language

27. Affixation is:

a) a way of word-building consisting in adding an affix to the stem of a word
b) shortening of words

c) a way of word-building consisting in forming one part of speech from another
d) a way of word-building consisting in shifting the stress

28. A non-affixal type of word-building is:
a) composition

b) conversion

¢) sound imitation

d) reduplication

29. The derivational stem (base) and derivational affix into which the derived word is
segmented are:

a) immediate meaningful constituents

b) ultimate constituents

¢) lexical morphemes

d) grammatical morphemes

30. The meaning of a compound is derived from:

a) the structural meaning of its pattern

b) the lexical meaning of its immediate constituents

c) the lexical meanings of its immediate constituents and from the structural meaning of its
pattern

d) the lexical meaning of its ultimate constituents and from the structural meaning of its
pattern

31. Compounds may be coordinate and subordinate according to:
a) the order of their immediate constituents

b) the nature of their immediate constituents

c) the relations between their immediate constituents
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d) the nature of the ultimate constituents

32. Verbalization is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech

d) the formation of adverbs from other parts of speech

33. Substantivation is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech

d) the formation of adverbs from other parts of speech

34. Lexical abbreviation of words consists:
a) in adding a part of a word

b) in clipping a part of a word

c¢) in clipping a prefix

d) in adding a suffix

35. Find a derivational adjective-nominal compound:
a) gas-stove

b) red-nosed

c) motorway

d) brick-layer

36. Find nominal-verbal compound:
a) proof-read

b) cross-question

¢) fireman

d) writing-table

37. Find a verb-adverb compound:
a) a bookshelf

b) a double-check

c) a draw-back

d) a headmaster

38. Find a nominal compound:
a) colour-blind

b) telecast

¢) pale-faced

d) bottle-neck

39. Find an example of a graphical abbreviation:
a) Mr. Brown’s office

b) V-Day

c) MP’s speech

d) NATO

40. Find an abbreviation which is read as an ordinary word:
a) H-bomb
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b) UNESCO
c) USA
d) BBC

41. Find an example of apocope:
a) curtsy

b) exam

c) flu

d) bus

42. Find an example of aphaeresis:
a) tec

b) taxi

c¢) plane

d) S.O.S.

43. Find an example of syncope:
a) specs

b) prof

c) lab

d) cycle

44. Find the word that has been clipped both at the beginning and at the end:
a) phone
b) photo
c) fridge
d) smog

45. Find an example of a blend:
a) fence

b) zoo

c¢) U-boat

d) motel

46. Find a denominal verb denoting deprivation of the object:
a) a crowd —to crowd

b) a bone —to bone

c) an ape —to ape

d) a pocket —to pocket

47. Find a denominal verb denoting an action produced with the object (instrumental
relations):

a) acrowd — to crowd

b) a pump —to pump

c) a dress—to dress

d) a ferret—to ferret

48. Find a denominal verb denoting some action characteristic of the subject:
a) a hammer —to hammer

b) a doctor —to doctor

c) abag—to bag

d) a pile —to pile
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49. Find a denominal verb denoting placing into the object (relations of place):
a) ahead —to head

b) a bottle —to bottle

c) asaw —to saw

d) an elbow —to elbow

50. Find a denominal verb denoting addition of the object:
a) a monkey —to monkey

b) a queue —to queue

c) a back —to back

d) a fish—to fish

TecThl MOPOroBOro ypoBHs OlICHUBAIOTCS u3 pacdera 100 6amioB, KaXIbli MPABUIBHBINA OTBET
OLIEHUBAaETCA B 2 Oajuia.

[IIkana COOTBETCTBHsI PEUTHUHTOBBIX OLIEHOK MATHOAUTBHBIM oreHkaM: 100 — 81- «otnuaHO» (5);
80 — 61 - «xopomio» (4); 60 — 41 - «ynoBreTBopuTenbHO» (3); 40 — 21 - «HEYIOBIECTBOPHUTEIHLHOY
(2),20 -0 - «HEOOXOAMMO TOBTOPHOE U3YUCHUE).

Kpurepun oueHku Tecta (IOPOroBbiii yPOBEHbD)

Orenka 1o 5-0ayIbHOM CUCTEME Ornenka o 100-6aypHoM | bamnel mjs atrecTanun
CHCTEME
5 OTJINYHO 81 -100 17-20
4 | xopouio 61 —80 13-16
3 | yAOBJIETBOPUTEIHHO 41 - 60 9-12
2 | HEYIOBJIETBOPUTEIBHO 21 -40 5-8
1 Heo0xoxnumo MTOBTOPHOE 0-20 0-4
U3YYCHHE
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MUHUCTEPCTBO OBPA3OBAHNSI MOCKOBCKOW OBJIACTU
['ocynapcTBeHHOE 00pa3oBaTeIbHOE YUPEKICHHE BEICIIEro 00pa3oBaHusi MOCKOBCKO# obmactu

MOCKOBCKUI T'OCYJTIAPCTBEHHbBIN OBJIACTHOM YHUBEPCUTET
(MI'OY)

Kadenpa anrnumiickoit Gpunonoruu

Tect (Bapumant 1)
Mo AUCHUIINHE «JIeKCHKOJIOTHS AHTJIMHCKOT0 A3BIKA»

OnenuBaemsblie komnerenuuu: CIIK-1, CIIK-6, CIIK-8
Yposenb: [IpoaBUHYyTHIN

1. Find an example of a non-assimilated borrowing:
a) fellow

b) café

c) forest

d) meeting

2. Find an example of a completely assimilated borrowing:
a) hotel

b) restaurant

c¢) husband

d) machine

3. Find a loan-word not completely assimilated with the English language phonetically:
a) police

b) river

c) flower

d) wall

4. Find a loan-word not completely assimilated with the English language grammatically:
a) figure

b) army

c¢) datum

d) cage

5. Find a Celtic loan-word:
a) dream

b) grass

c) cradle

d) road

6. The term “lexicology” 1is of:
a) Greek origin

b) Latin origin

c) French origin

d) Russian origin
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7. The two main approaches to studying language material are:
a) special and descriptive

b) historical and comparative

c¢) synchronic and diachronic

d) contrastive and general

8. Lexico-semantic system is:

a) a combination of interdependent elements

b) a type of classification of English vocabulary
c) acombination of changing elements

d) a stock of borrowings

9. The basic word-stock includes:
a) nouns

b) adjectives

c) different parts of speech

d) phraseological units

10. Archaisms are words which:

a) ousted some new words

b) are no longer used in everyday speech
c) are used to express new phenomena
d) are used with new meanings

11. A proper neologism is:

a) an old lexical unit for denoting a new object or phenomenon
b) a lexical unit existing in the language and changing its meaning
¢) anew lexical unit that develops in the language

d) a new lexical unit for denoting a new object or phenomenon

12. Semantic borrowings are such units in which:

a) a new meaning for the unit existing in the language is borrowed
b) there is a word-for-word (morpheme-for-morpheme) translation

c¢) the spelling, pronunciation and meaning are borrowed

d) there is complete assimilation

13. A morpheme is:

a) the main unit of the lexical system

b) the smallest language unit which can stand alone as a complete utterance
c) the smallest meaningful language unit

d) a group of words which exists in the language as aready-made unit

14. General dictionaries deal with:
a) synonyms

b) antonyms

¢) word-frequency

d) translation

15. Historic events, geographical names, names for diseases, plants, animals, institutions are
included in:

a) encyclopedic dictionaries

b) linguistic dictionaries
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c) explanatory dictionaries
d) general dictionaries

16. Dictionaries may be general and restricted by:

a) the nature of their word-list

b) the number of languages in which the information is presented
c) the language in which the information is presented

d) the amount of information presented

17. The dictionaries containing units in one language and their equivalents in another are:
a) translation dictionaries

b) explanatory dictionaries

c) etymological dictionaries

d) specialized dictionaries

18. The main types of semantic transfer are:
a) overstatement and understatement

b) metaphor and metonymy

c¢) irony and enantiosis

d) elevation and degradation

19. Metaphor is based on:

a) contiguity of referents

b) similarity of referents in shape, function, in position, in behaviour, etc.

c) the gradual process when a word passes from a general sphere to some special sphere of
communication

d) the gradual process when the meaning of a word becomes more general in the course of
time

20. Which of the following minor types of semantic transfer consists in naming unpleasant
or offensive referents in a polite, conventional, indirect or round-about way?

a) irony

b) enantiosis

¢) euphemism

d) overstatement

21. Find the word with the grammatical meaning of singularity (noun):
a) He works well.

b) His work is done well.

¢) His works are known everywhere.

d) They work at a big plant.

22. Find the word with the grammatical meaning of plurality (noun):
a) All hisanswers were correct.

b) He answers well.

c) If you are not sure, don’t answer this questions.

d) Your answer is wrong.

23. Find the word in which the emotive charge is heavier:
a) large

b) big

¢) tremendous
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d) vast

24. Find the word which is colloquial in style:
a) parent

b) father

c) dad

d) ancestor

25. Find the word which is bookish in style:
a) darkness

b) harmony

c¢) foolish

d) glad

26. Find aslangism:
a) wife

b) sister

C) missus

d) mother

27. Find a professionalism:
a) a shop

b) a lab

c) a store

d) a barn

28. Find a vulgarism:
a) bad

b) negative

c) awful

d) bloody

29. Find the word which is motivated morphologically:
a) father

b) singer

¢) aunt

d) niece

30. Find the word which is completely motivated morphologically:
a) long

b) endless

c) big

d) large

31. Find a word with an inflection:
a) worker

b) darkness

c¢) books

d) rewrite

32. Find a word with a derivational affix:
a) night
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b) heartless
c¢) Ivanov’s
d) papers

33. Find a word with two free morphemes:
a) unbearable

b) childhood

¢) merry-go-round

d) first-nighter

34. Find a word with a bound root-morpheme:
a) suspicion

b) backward

c) brotherly

d) houses

35. Find a word formed with the help of a productive prefix:
a) amphitheatre

b) withdraw

¢) unknown

d) forecast

36. Find a word formed with the help of a non-productive prefix:
a) enrich

b) interpersonal

c) disagree

d) rewrite

37. Find a word with a productive Germanic prefix:
a) foretell

b) misspell

c¢) abnormal

d) co-educational

38. Find a word with a productive Romanic prefix:
a) afternoon

b) unpleasant

c) pre-teach

d) underestimate

39. Find a word with a Greek prefix:
a) post-school

b) anti-racist

¢) extraordinary

d) overrun

40. Which of the words is built with a prefix denoting negation:
a) undo

b) counter-strike

c) illogical

d) decentralize
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41. Which of the words has a prefix denoting repetition:
a) enlarge

b) befriend

c) repeat

d) retake

42. Which of the prefixes denotes time relations:
a) post-

b) un-

c) ir-

d) dis-

43. Find a noun built with the help of a lexicalized grammatical suffix:
a) emptiness

b) transition

c) acting

d) waitress

44. Which of the suffixes is used for the formation of nouns?
a) -ship

b) -ly

c) -ful

d) -ize

45. Which of the suffixes is a verb-suffix:
a) -al

b) -en

c) -ed

d) -ion

46. Which of the suffixes is an adjective-suffix:
a) -or

b) -ous

c) -ness

d) -ment

47. Find a noun built with the help of a suffix denoting a female being:
a) worker
b) scientist
c¢) Chinese
d) actress

48. Find a noun built with the help of a suffix denoting diminutiveness:
a) sharpener

b) islet

c) designer

d) farmerette

49. Find a noun built with the help of a suffix denoting collectivity:
a) peasantry

b) warmth

¢) democracy
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d) loneliness

50. Find a noun built with the help of a suffix denoting the agent of a verbal action:
a) socialist

b) auntie

¢) driver

d) villager

51. Find a noun built with the help of a suffix denoting the process of an action:
a) writer

b) development

c¢) readership

d) kingdom

52. Find a noun built with the help of a suffix denoting state:
a) materialism

b) educate

c) tiredness

d) interpretation

53. Which of the nouns is built with the help of a productive suffix:
a) victory

b) pianist

C) passage

d) boredom

54. Which of the nouns is built with the help of a non-productive suffix:
a) resistance

b) happiness

¢) socialism

d) solution

55. Find an endocentric word-group:
a) white snow

b) to turn pale

¢) side by side

d) day and night

56. Find an exocentric word-group:
a) heavy rain

b) to grow smaller

c) keen sight

d) great bravery

57. Find a phraseme:
a) red tape

b) small hours

c) heavy feathers

d) to get the sack

58. Find an idiom:
a) a mare’s nest
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b) heavy rain
¢) cold reason
d) to fall ill

59. Which of the dialects became the national language of Britain?
a) Lowland
b) Northern
c) Western
d) Midland

60. Which of the words is more frequently used in the USA than in Britain:
a) underground

b) subway

c) tube

d) metro

61. Lexicology is a branch of linguistics which deals with...

a) the various means of expressing grammatical relations between words and with the
patterns after which words are combined into word groups and sentences

b) the outer sound form of the word

c¢) lexical units and the vocabulary of alanguage

d) the study of the nature, functions and structure of stylistic devices and with the
investigation of each style of the language

62.The largest two-facet lexical unit observed on the syntagmatic level of analysis is:
a) the word

b) the word-combination

c) the phrasal verb

d) the phraseological unit

63. A seme is:

a) the smallest element of the grammatical meaning
b) the root of a word

c) the smallest meaningful language unit

d) the smallest element of the lexical meaning

64. Affixation is:

a) a way of word-building consisting in adding an affix to the stem of a word
b) shortening of words

c) a way of word-building consisting in forming one part of speech from another
d) a way of word-building consisting in shifting the stress

65. A non-affixal type of word-building is:
a) composition

b) conversion

c¢) sound imitation

d) reduplication

66. The derivational stem (base) and derivational affix into which the derived word is
segmented are:

a) immediate meaningful constituents

b) ultimate constituents

39



c¢) lexical morphemes
d) grammatical morphemes

67. The meaning of a compound is derived from:

a) the structural meaning of its pattern

b) the lexical meaning of its immediate constituents

c) the lexical meanings of its immediate constituents and from the structural meaning of its
pattern

d) the lexical meaning of its ultimate constituents and from the structural meaning of its
pattern

68. Compounds may be coordinate and subordinate according to:
a) the order of their immediate constituents

b) the nature of their immediate constituents

c) the relations between their immediate constituents

d) the nature of the ultimate constituents

69. Verbalization is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech

d) the formation of adverbs from other parts of speech

70. Substantivation is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech

d) the formation of adverbs from other parts of speech

71. Lexical abbreviation of words consists:
a) in adding a part of a word

b) in clipping a part of a word

c¢) in clipping a prefix

d) in adding a suffix

72. The term “polysemy” stands for:
a) the process of semantic development
b) the plurality of meanings

c) the connotation of the meaning

d) the transferred meaning of a word

73. The causes of semantic changes can be:
a) phonological

b) morphological

c¢) extra-linguistic

d) linguistic and extra-linguistic

74. A metaphor is a transfer of meaning on the basis of:
a) comparison

b) similarity

c) opposition

d) contiguity
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75. Find an example of a full Briticism:
a) fortnight

b) country

c) ship

d) window

76. Find an example of a full Americanism:
a) drug-store

b) friendship

c¢) childhood

d) cinema

77. Find the word the spelling of which inthe USA differs from that in Britain:
a) standard

b) labor

¢) national

d) language

78. Find a Latin loan-word:
a) a cup

b) a wife

¢) a window

d) a glass

79. Find a Greek loan-word:
a) fruit

b) scheme

c) capital

d) table

80. Find a Scandinavian loan-word:
a) to read

b) to write

c) to speak

d) to take

81. Find a French loan-word:
a) ox

b) meat

c) pig

d) sausage

82. Find a German loan-word:
a) rain

b) prize

c) game

d) nickel

83. Find an Italian loan-word:
a) article

b) balcony

¢) question
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d) fish

84. Find the word which is partially motivated morphologically:
a) cherry

b) apple

c) pear

d) cranberry

85. Find the word which is motivated phonetically:
a) hiss

b) pen

c) table

d) board

86. Find an example of a dead metaphor:
a) cold reason

b) cruel heat

c) the flower of her life

d) the hand of the watch

87. Find an example of a personal metaphor:
a) She is like a snake in the grass.

b) He bought a head of cabbage.

¢) The moon is riding in the sky.

d) The moon is like a silver coin.

88. Find an example of zoosemy:

a) Don’t you be a dog in the manger.
b) She is always as busy as a bee.

c) He is as strong as an elephant.

d) “Rise like lions after slumber”.

89. Find an example of metonymy:

a) He had only a few coppers in his pocket.
b) We got to the mouth of the river.

c) He was a lion in the fight.

d) The valley was silent.

90. Find the case of synecdoche:

a) Everything smiled at him.

b) All hands aboard!

c¢) the childhood of the earth.

d) The leg of the table was broken.

91. Find the example of the generalization of meaning:

a) She has always been a good wife to him.

b) Have you looked through the journals which were received yesterday?
¢) We must write to the minister about it.

d) I don’t like her. Her manners are vulgar.

92. Find the example of the degradation of meaning:
a) The office was in the busiest part of London, in the City.
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b) The hunter walked along the path, the hound running after him.
¢) Our target is building civil society.
d) “Do you hear the villain?” groaned the tall young man.

93. Find a monosemantic word:
a) book

b) hydrogen

c) head

d) country

94. Find the case where diachronically we have not polysemantic words but homonyms:
a) table (cToux) — table (TaGmmia)

b) pipe (Tpyba) — pipe (KypurenabHas TpyOKa)

c) tube (Tpyba) — tube (MeTpo)

d) ear (xosoc) — ear (yxo)

95. Find a word with two bound affixational morphemes:
a) ruthless

b) kind-hearted

¢) uneatable

d) book-keeper

96. Find a monomorphic word:
a) mighty

b) reader

c) daughter

d) ashtray

97. Find a polymorphic (derived) word:
a) uncomfortable

b) lamp-shade

c) firewall

d) forget-me-not

98. Find a polymorphic (compound) word:
a) unquestionable

b) unpredictable

¢) government

d) lady-killer

99. Which of the adjectives is built with the help of a suffix denoting the absence of the
quality?

a) girlish

b) understandable

c) careless

d) talkative

100. Find an adjective built with the help of a suffix denoting the presence of the quality
in a small degree:

a) thoughtful

b) penniless

¢) childish
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d) reddish

TecThl MPOABMHYTOTO YPOBHS oleHHBalOTCS U3 pacdyera 100 OamioB, KaXIblii MPaBUIBHBINA
OTBET OllCHUBaeTcs B 1 Oa.
[IIkana cOOTBETCTBHSI PEHTHHTOBBIX OLEHOK MATHOAIBHBIM oneHKaM: 100 — 81- «ormmano» (5);
80 — 61 - «xopouio» (4); 60 — 41 - «ynoBnerBoputensHo» (3); 40 — 21 - «HEyAOBIETBOPUTEILHO
(2),20 -0 - «HEOOXOAMMO MTOBTOPHOE U3YUECHUE).

Kpurtepun oueHku Ttecta (IpOABUMHYTHIN YPOBEHb)

O1eHKa 10 5-0a1IbHOM CUCTEME

Ornenka o 100-0amipHOK
CHCTEME

Bamne! qiis arrectamun

5 OTJINYHO 81 —-100 17-20

4 | xopouio 61 — 80 13-16

3 | yIOBJIETBOPUTEIHLHO 41 — 60 9-12

2 | HEYJIOBJIETBOPUTEIILHO 21 -40 5-8

1 | Heobxomumo MIOBTOPHOE 0-20 0-4
U3yYeHUE
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MUHUCTEPCTBO OBPA3OBAHNSI MOCKOBCKOW OBJIACTU
['ocynapcTBeHHOE 00pa3oBaTeIbHOE YUPEKICHHE BEICIIEro 00pa3oBaHusi MOCKOBCKO# obmactu

MOCKOBCKUI T'OCYJTIAPCTBEHHbBIN OBJIACTHOM YHUBEPCUTET
(MI'OY)

Kadenpa anrnumiickoit Gpunonoruu

Tect (Bapuanr 2)
Mo AUCHUIINHE «JIeKCHKOJIOTHS AHTJIMHCKOT0 A3BIKA»

OnenuBaemsblie komnerenuuu: CIIK-1, CIIK-6, CIIK-8
Yposenb: [IpoaBUHYyTHIN

1.Special lexicology is:

a) the lexicology of a particular language

b) the lexicology of any language

c) the study of vocabulary at a given stage of language development

d) the study of vocabulary changes and development in the course of time

2. The word has:

a) only phonological aspects

b) only syntactic aspects

c) only semantic aspects

d) phonological, semantic and syntactic aspects

3. Two or more words identical in sound-form but different in meaning, distribution and
(in many cases) origin are:

a) antonyms

b) homonyms

C) paronyms

d) archaisms

4. Homophones are:

a) identical in spelling but different in sound-form
b) identical in sound-form but different in spelling
c¢) identical in spelling and sound-form

d) different in spelling and sound-form

5. When two or more homonyms can originate from different meanings of the same word,
when for some reason, the semantic structure of the word breaks into several parts, this
type of formation of homonyms is called:

a) borrowing

b) word-building

c) split of polysemy

d) composition

6. Word-formation:
a) deals with segmentation of words into morphemes
b) deals with segmentation of words into phonemes
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c) is an autonomous language mechanism which is used to make new words
d) is a language mechanism which is used to create new meaning for the words already
existing in the language

7. The morphemes which may occur alone and coincide with word-forms or immutable
words are:

a) free lexical morphemes

b) bound lexical morphemes

¢) bound grammatical morphemes

d) allomorphs

8. Which meaning of the word-combination is conveyed by the pattern of arrangement of
the component words:

a) structural

b) lexical

C) primary

d) secondary

9. Which of the phraseological units are completely non-motivated and usually stable:
a) phraseological unities

b) phraseological fusions

c¢) phraseological collocations

d) terminological phraseologisms

10. Phraseological units are classified into noun, verb, adverb and adjective equivalents by
the criterion of:

a) non-variability of context

b) partial variability of context

c¢) function

d) idiomaticity

11. Find an example of a phraseological fusion:
a) to show one’s teeth

b) sunny smile

c) cold winter

d) heavy father

12. Find an example of a phraseological collocation:
a) to go to the cinema

b) to declare war

c) to get the sack

d) to beat about the bush

13. Find an example of a phraseological unity:
a) to know where the shoe pinches

b) to join the army

d) to speak well

d) to know everything

14. Find an adverbial phraseological unit:
a) ill at ease
b) red tape
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c) by heart
d) to keep house

15. Find a verb phraseological unit:
a) for the sake of

b) Jack of all trades

c¢) golden opportunity

d) to cut short

16. Find the word which is obsolete in Britain but modern in the USA:
a) building (=house)

b) to pronounce (=to speak)

c) to ask (=to question)

d) fall (=autumn)

17. Find the American form of Participle II:
a) written

b) spoken

c) proven

d) taken

18. A wvariety of a language which prevails in a district, with local peculiarities of
vocabulary, pronunciation and phrase is:

a) a dialect

b) an accent

c) a regional variant of standard language

d) standard language

19. British, America, Australian and Canadian English are:
a) different languages

b) accents

c¢) local dialects

d) regional variants

20. The science of dictionary-compiling is:
a) lexicology

b) lexicography

¢) lexicon

d) lexical semantics

21. Find a Spanish loan-word:
a) institute

b) moment

c) cigar

d) telephone

22. Find a Russian loan-word:
a) sister

b) Kremlin

¢) minute

d) sport
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23. Find an Arabian loan-word:
a) philosophy

b) chess

c) tomato

d) algebra

24. Find a Turkish loan-word:
a) café

b) physics

c) coffee

d) massage

25. Find a Chinese loan-word:
a) lemon

b) glass

c) tea

d) savage

26. Which is the most frequent meaning of the polysemantic word “hand”?
a) factory or dockyard worker

b) the pointer of a watch

c¢) side or direction

d) part of the human arm beyond the wrist

27. In which of the word-groups the lexical context is of primary importance to determine
the meaning of a polysemantic word:

a) heavy storm

b) to make a good teacher

c) to make everybody laugh

d) to get to the place

28. In which of the word-groups the grammatical context is of primary importance to
determine the meaning of a polysemantic word:

a) heavy artillery

b) to make somebody work

¢) handsome reward

d) to take the train

29. Find an example of full lexical homonyms:
a) lead (Bectn) — lead (cBuHeI)

b) ball (msq) — ball (6ai)

¢) rose (po3a) —rose (past tense from to rise)
d) flat (kBaptupa) — flat (mmockwuit)

30. Find an example of partial lexical antonyms:
a) match (cnmuka) — match (mar4)

b) seal (Tronenn) — seal (reyars)

c¢) to lie (nexxarp) —to lie (nrartp)

d) coarse (rpyOsiif) — course (Kypc)

31. Find an example of full lexico-grammatical homonyms:
a) club (n) —to club (v)
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b) pail (n) — pale — (adj)
¢) since (prep) — since (conj)
d) to lie (;iexxarp) —to lie (raTh)

32. Find an example of partial lexico-grammatical homonyms:
a) for (prep)— for (conj)

b) sun (n)—son (n)

c) bow (1yk) — bow (mOKJIOH)

d) seal (Tromensn) — seal (3amedarats)

33. Find an example of root antonyms:
a) kind — cruel

b) important — unimportant

c¢) like — dislike

d) logical — illogical

34. Find an example of derivational antonyms:
a) love — hatred

b) beautiful — ugly

c) careful — careless

d) big — small

35. Find a set of words not belonging to the same thematic group:
a) tree — grow — green

b) journey — train — ticket

¢) sun — shine — brightly

d) apple — read — snow

36. Which of the words is divided into Ultimate Constituents:
a) un-touchable

b) un-break-able

¢) un-mistakable

d) ir-resistible

37. Which of the word is divided into Immediate Constituents:
a) in-significant

b) in-attent-ive

¢) un-doubt-ed-ly

d) pleas-ant-ly

38. Find a word with a pseudo-morpheme:
a) re-write
b) re-ceive
c¢) re-read
d) re-take

39. Find a word with a semi-affix:
a) well-behaved

b) long-winded

c¢) self-centred

d) undisputable
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40. In which of the suffixated words a root-morpheme has transformed into an affixational
morpheme?

a) actress

b) friendship

¢) question

d) childish

41. Find a compound in which the components reflect the semantic relations of purpose:
a) neck-tie

b) wrist-watch

c¢) bookshelf

d) snowball

42. Find a compound in which the components reflect the semantic relations of time:
a) motorboat

b) night-club

¢) bathroom

d) man-servant

43. Find a derivational adjective-nominal compound:
a) gas-stove

b) red-nosed

c) motorway

d) brick-layer

44. Find nominal-verbal compound:
a) proof-read

b) cross-question

c¢) fireman

d) writing-table

45. Find a verb-adverb compound:
a) a bookshelf

b) a double-check

c) a draw-back

d) a headmaster

46. Find a nominal compound:
a) colour-blind

b) telecast

c) pale-faced

d) bottle-neck

47. Find an example of a graphical abbreviation:
a) Mr. Brown’s office

b) V-Day

c) MP’s speech

d) NATO

48. Find alexical abbreviation which is read as an ordinary word:
a) H-bomb
b) UNESCO
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c) USA
d) BBC

49. Find an example of apocope:
a) curtsy

b) exam

¢) flu

d) bus

50. Find an example of aphaeresis:
a) tec

b) taxi

¢) plane

d) S.O.S.

51. Find an example of syncope:
a) specs

b) prof

c) lab

d) cycle

52. Find the word that has been clipped both atthe beginning and at the end:
a) phone
b) photo
c) fridge
d) smog

53. Find an example of a blend:
a) fence

b) zoo

c¢) U-boat

d) motel

54. Find an example of back-formation:
a) to read —read

b) to edit — editor

¢) to instruct — instructor

d) to shake — shaker

55. Find a denominal verb denoting deprivation of the object:
a) a crowd —to crowd

b) a bone —to bone

c) an ape —to ape

d) a pocket —to pocket

56. Find a denominal verb denoting an action produced with the object (instrumental
relations):

a) acrowd — to crowd

b) a pump —to pump

c) a dress—to dress

d) a ferret—to ferret
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57. Find a denominal verb denoting some action characteristic of the subject:
a) a hammer — to hammer

b) a doctor —to doctor

c) abag—to bag

d) a pile —to pile

58. Find a denominal verb denoting placing into the object (relations of place):
a) ahead —to head

b) a bottle —to bottle

c) asaw —to saw

d) an elbow —to elbow

59. Find a denominal verb denoting addition of the object:
a) a monkey —to monkey

b) a queue —to queue

c) a back —to back

d) a fish—to fish

60. Find a deverbal substance denoting the agent of the action:
a) tocut—acut

b) to tramp —a tramp

c) to smile—a smile

d) to rush —rush

61. Find an example of a non-assimilated borrowing:
a) fellow

b) café

c) forest

d) meeting

62. Find an example of a completely assimilated borrowing:
a) hotel

b) restaurant

¢) husband

d) machine

63. Find a loan-word not completely assimilated with the English language phonetically:
a) police

b) river

c) flower

d) wall

64. Find a loan-word not completely assimilated with the English language grammatically:
a) figure

b) army

c¢) datum

d) cage

65. Find a Celtic loan-word:
a) dream

b) grass

c) cradle
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d) road

66. The term “lexicology” is of:
a) Greek origin

b) Latin origin

c) French origin

d) Russian origin

67. The two main approaches to studying language material are:
a) special and descriptive

b) historical and comparative

c¢) synchronic and diachronic

d) contrastive and general

68. Lexico-semantic system is:

a) a combination of interdependent elements

b) a type of classification of English vocabulary
c) acombination of changing elements

d) a stock of borrowings

69. The basic word-stock includes:
a) nouns

b) adjectives

c) different parts of speech

d) phraseological units

70. Archaisms are words which:

a) ousted some new words

b) are no longer used in everyday speech
c) are used to express new phenomena
d) are used with new meanings

71. A proper neologism is:

a) an old lexical unit for denoting a new object or phenomenon
b) a lexical unit existing in the language and changing its meaning
¢) anew lexical unit that develops in the language

d) a new lexical unit for denoting a new object or phenomenon

72. Semantic borrowings are such units in which:

a) a new meaning for the unit existing in the language is borrowed
b) there is a word-for-word (morpheme-for-morpheme) translation

c¢) the spelling, pronunciation and meaning are borrowed

d) there is complete assimilation

73. A morpheme is:

a) the main unit of the lexical system

b) the smallest language unit which can stand alone as a complete utterance
c) the smallest meaningful language unit

d) a group of words which exists in the language as aready-made unit

74. General dictionaries deal with:
a) synonyms
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b) antonyms
¢) word-frequency
d) translation

75. Historic events, geographical names, names for diseases, plants, animals, institutions are
included in:

a) encyclopedic dictionaries

b) linguistic dictionaries

c) explanatory dictionaries

d) general dictionaries

76. Dictionaries may be general and restricted by:

a) the nature of their word-list

b) the number of languages in which the information is presented
c¢) the language in which the information is presented

d) the amount of information presented

77. The dictionaries containing units in one language and their equivalents in another are:
a) translation dictionaries

b) explanatory dictionaries

c) etymological dictionaries

d) specialized dictionaries

78. The main types of semantic transfer are:
a) overstatement and understatement

b) metaphor and metonymy

c¢) irony and enantiosis

d) elevation and degradation

79. Metaphor is based on:

a) contiguity of referents

b) similarity of referents in shape, function, in position, in behaviour, etc.

c) the gradual process when a word passes from a general sphere to some special sphere of
communication

d) the gradual process when the meaning of a word becomes more general in the course of
time

80. Which of the following minor types of semantic transfer consists in naming unpleasant
or offensive referents in a polite, conventional, indirect or round-about way?

a) irony

b) enantiosis

¢) euphemism

d) overstatement

81. Find the word with the grammatical meaning of singularity (noun):
a) He works well.

b) His work is done well.

¢) His works are known everywhere.

d) They work at a big plant.

82. Find the word with the grammatical meaning of plurality (noun):
a) All his answers were correct.
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b) He answers well.
c) If you are not sure, don’t answer this questions.
d) Your answer is wrong.

83. Find the word in which the emotive charge is heavier:
a) large

b) big

c¢) tremendous

d) vast

84. Find the word which is colloquial in style:
a) parent

b) father

c) dad

d) ancestor

85. Find the word which is bookish in style:
a) darkness

b) harmony

c¢) foolish

d) glad

86. Find a slangism:
a) wife

b) sister

C) missus

d) mother

87. Find a professionalism:
a) a shop

b) a lab

c) a store

d) a barn

88. Find a vulgarism:
a) bad

b) negative

c) awful

d) bloody

89. Find the word which is motivated morphologically:
a) father

b) singer

¢) aunt

d) niece

90. Find the word which is completely motivated morphologically:
a) long

b) endless

c) big

d) large
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91. Find a word with an inflection:
a) worker

b) darkness

c) books

d) rewrite

92. Find a word with a derivational affix:
a) night

b) heartless

c¢) Ivanov’s

d) papers

93. Find a word with two free morphemes:
a) unbearable

b) childhood

¢) merry-go-round

d) first-nighter

94. Find a word with a bound root-morpheme:
a) suspicion

b) backward

c¢) brotherly

d) houses

95. Find a word formed with the help of a productive prefix:
a) amphitheatre

b) withdraw

¢) unknown

d) forecast

96. Find a word formed with the help of a non-productive prefix:
a) enrich

b) interpersonal

c) disagree

d) rewrite

97. Find a word with a productive Germanic prefix:
a) foretell

b) misspell

c¢) abnormal

d) co-educational

98. Find a word with a productive Romanic prefix:
a) afternoon

b) unpleasant

c) pre-teach

d) underestimate

99. Find a word with a Greek prefix:
a) post-school

b) anti-racist

¢) extraordinary

56



d) overrun

100. Which of the words is built with a prefix denoting negation:
a) undo

b) counter-strike

c) illogical

d) decentralize

TecThl MPOABMHYTOTO YPOBHS olleHHBalOTCS U3 pacdyera 100 OamioB, KaxIblii MPaBUILHBINA
OTBET OlleHUBaeTcs B 1 Oa.

[IIkana cOOTBETCTBHSI PEHTHHTOBBIX OLEHOK MATHOAIBHEIM oneHKaM: 100 — 81- «oTmmano» (5);
80 — 61 - «xopouio» (4); 60 — 41 - «ynoBierBoputensHo» (3); 40 — 21 - «HEyAOBIETBOPUTEIILHO
(2),20 -0 - «HEOOXOAMMO MTOBTOPHOE U3YUCHUE).

Kpurtepun oueHku Tecta (IpOABHMHYTHIN YPOBEHb)

O1eHKa 110 5-0a1IbHOM CUCTEME Ornenka mo 100-6amipHoM | Bamner mis arrectamun
CHCTEME
5 OTJIMYHO 81 -100 17-20
4 | xopouo 61 — 80 13-16
3 | yIOBJIETBOPUTEIHHO 41 — 60 9-12
2 | HEYJIOBJIETBOPUTEIIBHO 21 -40 5-8
1 | Heobxomumo MIOBTOPHOE 0-20 0-4
U3yYeHUE
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4. MeToauuecKkue MaTepHaJIbl, OMNpeAeIsIIONIHe MPoUeaypPbl ONEeHUBAHMS
pe3yJbTAaTOB 0CBOEHHsI 00pa30BaTe/IbHOW MPOrpaMMbl

N3yuyenne pucuumuinHbl «JIEKCUKOJIOrUS AHIVIMHUCKOTO A3bIKa» MPELYyCMaTpUBACT
cienyomue GopMbl TEKYIIEr0 KOHTPOJIS U MPOMEKYTOYHOW aTTeCTallMU: 3a4eT C
OIICHKOM B 4 ceMecTpe Mg O4HOU (POpMBI 00yUeHUS.

3a4eT COCTOMT M3 JBYX YacTel: YCTHOM TEOPETUYECKOH (CTYIEHT AEMOHCTPUPYET
3HAHUE TEOPETUYECKOT0 Marepuaia MO JUCUUIUIMHE) M MNPAKTUYECKON 4YacTH
(CTYZEHT NIEMOHCTPUPYET BIAJCHHE NMPUEMaMU aHAIM3a SI3bIKOBBIX E€IMHULI).

Pacnpeuenenne 0aJ1J10B 1O BUIaM paﬁoT

Jlokmnan 1o 10 6annoB
IIpe3enranus o 10 6amuioB
Pedepar 1o 15 6amnos
Tectbl (MOPOTOBBIN YPOBEHbD) 10 20 6amioB
TecTbl (IPOJABUHYTHIN YPOBEHB) 10 20 6amioB
YcTHbI onpoc 10 10 Gamnos
3ayeT ¢ OLIEHKOU 1o 15 6amioB
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MMHUCTEPCTBO OBPA30BAHMS MOCKOBCKOI OBJIACTHU

['ocynapcTBeHHOE 00pa3oBaTeIbHOE YUPEKICHHE BEICIIEro 00pa3oBaHusi MOCKOBCKO# obmactu

MOCKOBCKUI T'OCYJTIAPCTBEHHbBIN OBJIACTHOM YHUBEPCUTET
(MI'OY)

Kadenpa anrnumiickoit Gpunonoruu

IlepeyeHb NPUMEPHBIX BONMPOCOB K 3a4€eTy € OLEHKOM M0 AMCUMILJINHE
«JIeKCHUKOJIOTHA AHTJIHHCKOT0 A3LIKA»

OnenuBaemsblie komnerenuuu: CIIK-1, CIIK-6, CIIK-8
Yposensb: Iloporossiii / [IpogBunyThIit

1. Lexicology as a branch of linguistics. Types of lexicology. The connection of
lexicology with other branches of linguistics.

2. Language units.

3. The word and its properties.

4. Theproblemoflinguisticmeaning. Types of linguistic meaning.

5. Aspects of lexical meaning.

6. Theproblemofsynonymy. Classification of synonyms.

7. Antonymy. Types of antonyms.

8. Polysemyandhomonymy. The structure of a polysemantic word.

9. Classificationothomonyms. Sources of homonymy.

10. Developmentoflexicalmeaning. Causes and types of semantic changes.

11. Metaphor and metonymy as mechanism of creating new meaning.

12. Secondary ways of semantic changes: elevation, degradation, hyperbole, litotes.
13. The etymological composition of the English lexicon. Native and borrowed
words in English. Characteristics of native words.

14. Borrowingsandtheirclassifications. Linguistic and extra-linguistic  causes of
borrowings. The source language and the language of origin.

15. French borrowings.

16. German and Scandinavian borrowings.

17. Latin, Italian and Spanish borrowings.

18. Etymological doublets, international words, false friends of the interpreter.

19. Morphemicstructureoftheword. Types of morphemes. Allomorphs.

20. Morphemic level of analysis of word structure. The IC and the UC analysis.
21. Primary and secondary ways of word formation.

22. Affixation.

23. Conversion.

24. Compounding.

25. Criteria of identifying a compound. Nominative binominals.

26. Secondary ways of word formation: shortening, acronymy, back formation,
blending, sound interchange, sound imitation, stress interchange.
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27. Phraseological units: the definition and characteristic features. Classifications of
phraseological units.

28. Semantic classification of phraseological units.

29. Structural classification of phraseological units.

30. Syntactical classification of phraseological units.

31. Archaic words and neologisms.

32. VariantvsDialect. MainvariantsofModernEnglish. English in different parts of the
world.

33. American English vs British English: differences in the vocabulary, grammar
and pronunciation.

34. Lexicography. The main types of dictionaries.

Kpurepuu onieHKHM 0TBETOB CTYJACHTOB HA 3a4eTe

Ounenka XapakTepucTHKAa KoimmnuecTBo
0aJ10B
OTJINYHO OTMeTKa «OTJIMYHO» BBICTABIIACTCS, €CIIU CTYJICHT: 81- 12-15

e o0OHapyxuBaeT Triybokoe moHMManue TeopeTnyeckux | 100
BOIPOCOB U MPAKTHUYECKOT'0 BOMPOCaA;

e yMeeT BHUAETh MEXIAUCUUIIMHAPHBIE CBSI3U MPEIMETOB,
NpOIEeHHBIX B IIpoliecce 00y4yeHus B OakagaBpuare;

® BJAJCET OCHOBHON TEPMHHOJOTUYECKON 0a30M;

® yMeeT JIOTUYHO BBICTPOUTH CBOM OTBET;

® U3JaraeT CyTh BOINPOCOB TPAMOTHO C TOYKH 3PECHHUS
S3BIKOBOM HOPMBI U METasI3bIKa HAYKH;

e yMeeT BECTH IOJIEMHUKY C S5K3aMEHAaTOpaMH, OTCTauBas
CBOE MHEHHUE IO JTUCKYCCHOHHOM TeMe.

X0pOoLIo Ol1ieHKa «XOPOLI0» CTaBUTCS, €CIIUA CTYJEHT: 61-80 | 8-11

e OOHapyXHMBaeT JOCTAaTOYHO  TIyOOKOe  IMOHUMAaHHE
TEOPETUYECKUX BOIPOCOB M IPAKTHUECKOIO BOIpPOCA, HO
3aTpyIHSETCS B IPUBEICHUH IPUMEPOB;

e yMeeT BHUAETh MEXIAUCUUIIMHAPHBIE CBSI3U MPEIMETOB,
NpOIEeHHBIX B IIpoliecce 00y4yeHus B OakagaBpuare;

e B IIEJIOM BIAJEET TEPMUHOJOTHYECKON 0a30i, HO
JIOTTYCKaeT OTJEIbHbIE HETOYHOCTH;

® HEJOCTAaTOYHO YETKO CTPYKTYPHUPYET OTBET;

® M3JIaraeT CyTh BOIIPOCOB JOCTATOYHO I'PAMOTHO C TOYKH
3peHus A3bIKOBOM HOPMBI U MeTasi3bIka HayKu (He Ooiee 2-
3 ommooK);

e B IICJIOM IPAaBWJIBHO OTBEYAET HAa BOIPOCHI, HO HE OYEHb
YCHEIIHO BEJET MOJEMUKY C 3K3aMeHaTOopaMH, OTCTauBas
CBO€ MHEHUE I10 JUCKYCCUOHHOM TEME.

yaoBjieTBo | OleHKa «yA0BJ€TBOPUTEIBHO)» CTABUTCS, €CIIU CTYJICHT: 41-60 4-7

pI/ITe.]'[BHO L] IIOKA3bIBACT ITOHHUMAHUC TCOpeTI/I‘IGCKI/IX BOHpOCOB nu
MPaKTUYECKOTO BOIMpOCA, HO PACKPBIBACT MaTepHall
HETIOJIIHO, 3aTpyIHAETCS NPUBOIUTH IIPUMEDEL,

L] HC BCCraa BUIUT MG)KI[I/ICIII/IHHI/IHapHI)IC CBsSI3H HpC[[MCTOB,
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NpOIIEHHBIX B TIpoIiecce 00y4yeHus B OakagaBpuare;

® JIONyCKaeT HETOYHOCTH B ONIPE/ICIICHUH ITOHSATHIA;

e  J3JIaraeT MaTepHal HEYeTKO U HEIMOCIIeI0BaTeIbHO;

® JIONyCKAaeT OMMOKH C TOYKU 3PEHHS S3BIKOBOH HOPMBI H
MeTas3blka Hayku (Oonee 4-5 ommOOK B TOM dYHCIE
BETYIINX K HCKQKEHHIO CMBICIIA BHICKA3bIBaHNA);

® JICIIBITBIBACT CEPbE3HBIC 3aTPyJHEHUS MpPU OTBETE Ha
BOIIPOCHI 9K3aMEHATOpa.

Hey/10BJIeT
BOPHUTEJbH
0

OrieHKa «HEYT0BJIETBOPUTETbHO)» CTABUTCS, €CITU CTYICHT:

® JIEMOHCTPHPYET pa3pO3HEHHbIC OECCUCTEMHBIC 3HAHHS,

® JIOIyCKaeT rpyOble ONTMOKK B ONIPEICIICHUN MTOHATHH;

® y3jaracT MaTepuall HEYBEPEHHO U HEUYETKO;

® JIOMyCKaeT rpyOble /MM MHOTOYHCIICHHBIC OIIMOKU B
YCTHOW  peuM, BeAylIHEe K HCKAXEHHUIO CMBICIA
BBICKa3bIBaHUS;

® HC MOXET OTBETUTh MPAKTHYECKH HH HA OJUH BOIPOC
HK3aMeHaTopa.

0-40

0-3
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